RN, T,eB TOeE -2019

Q008 Do B0 I B3FoD
Sare deea’ I xos,
30-04-2019 m 3. 10.30 Do% 11.50 o=5AR
A-1 | g54361
WIOTN [T nox, WY Aqks
) S sl ﬁog T {a) LoEned i !_i,!_‘n' » n‘ad‘o&a‘a; odoNd
80 RoFrL 70 RN 60 60
S0

I Looud w3 TFFonY DB Jded JITY INQITONDS A3k Mo, HB, BID 2.0B¢ VNID domd DI
dﬂafﬁﬂh&m% a‘ﬁﬁﬁﬂ%ﬁ 8R00 s&:eqamdunﬂ 39,

2. 3090 Hedrnosood & I8, WIFob D, st 23 Bo' uT FJoIT, Lond B, 10.30 ¥T FoIT ReBCRIDY.

3. 2o 2e0ds IBTIFoD DY) L.oo.uT". 1030 JPod JTFT daear wode UNDJITW, ITANERS, FIWIDTY
o0 a‘.btqmﬁﬁﬁﬂ 39K,

4. TP, BPoD IAFT' SR’ DX HH BoBob, WY deerSY 31pd wdadsew.

5. k.20.uU. w030 T3Fod 89T A0S NTQ Terer b IR,

Snaded

L L2080, e03T JSFoNY INOFTNDT L0007 SREF, STIRTR / TOWIRBFRIDD / LOIROD.

2. Sowode o . 10.40 § erHId. BYohTIINA,
* TF TIFOD LORNTPILT Xer O, IRoDRTD.
. gwhmmmwm ’ mmwmmmmmm

L TP, ToDQ D 60 JFeTH, TS gsm 4 0E uoﬁ; evIoTIS0 aDI.

2. ab.mﬁdc der wom 1. 10,400 JoId T3, TIBoD uomﬂwgcbﬁ xeor I B TIFoDQ cIHcde LI
TOFTNQTe IWJHTN o WOTY LT TOWD BRNTQ P clpPHBe DLond DDBoeNDobe DOLOT,
DUITAREROW. & 063 NGT ¥R §08a eORUE0CT TZTIFoHT, WHTEDAERE, JOIT  L.20.u0".
eVIT TSFoDY NSO TRTORITOFHT.

3. 00X 70 AWINYY
o T2 TP ob, S0deos L.

o T3 THoDH furt SoKIT Mooy wab woliod ITNYY TOCIRT WITI, Vol TRA. Lomsod B KvgTrih
aﬁgmmmﬂwmm.

o TP TIBODYS THA LRIOETONDT O CUITIW, L.20.807. 03T TFaDY e T XoLBoD Tood VAW
XowoRAD FIIWH), N0 VPT T ZooDd W TAWOL' JITRCT oTereF WOLOFYD.

RooT 8,30 3L) 8,307 WRONG METHODS

Tl ® 000 00 0@ 00 ®
OGOOOE®®O® ®O®O®

4. B L.00.uU". (VT JIFOD, W I IR W0 WY oY TN, Xy HWIW, IB RDOWIT. vrdod
£.00.60%. 03T TIFoHY LVIORTN 08 Tk,

T3, TFoDP 8ALIDT R0 S, OF SOxE LTOleeNA. L.00.LT". $0IT TJBoH), ATE, evToleenTed.
Sedod do wond U. 11.50 T Jo3T WIDHFTH, Pk, W, ST BrYU¢ HOWIW), WO WATY Tod.
£.00.60". V3T BIFoH), 8030 HedpmTron chgRy o AAd.

{ ¥olotv] ;begmdum :htoqri!:i Wmm.l gdﬂcﬂ- (3o T23) 3T, S5TQ fat.gmm ITLOOD ARTRIIODI,
(Candidate’s Copy) egpFnion Zobo aPosnadnh it dsodesohen damd.

9. 3T Jsad FTOM, Lo JIFF U WOZTN AB.

RAUWS: §53 uT 30D TJIVY IO SHHFNOR IXBEY INOFTNDS TFNY Wi DTTUR FoeBIGY BONET
30D BT, e, DGR ST S0WWOTY FONT YT 0BT, $0ID 00D JorIKAILYD

i R IR

P IIIIIIIIIIIIII A-l
- gcollegeduniaa

el



PHYSICS

3RS0, BODN DT, 803,

(A)

(B)

©)
(D)

T,3BoITO O Sertoemr
BRoHITH3d.

5o03Fe3,D0mN  TBER  Rentd
G, w8 B,
Renvd xS JIT.

Renvd, wSy s SO
Bend ST, B wRY Bunos.

m,oRee0e0’s  WOPeD  So3od
ROBATRY, Tetd ead T3 cort

(A)

(B)

©)

Fpedeer* AW Towedh T,
TZd DB Foowr BALDS
Ao

Wpedes® AL RTINS
TR Forr’ IS TR Ted),

s e

Fpedders I B0k AL

3.

FTOT  BeIODYTHI A,
T,TTE 030D DIT DIZ M
FWIT. & BIFODF DU 1T,
w0383, B obe, cdnaiciee .o
0339, LOoeN BN, IS

oowseN  30° o), SordBodRY
3THNTE0 SO Foksy

@ MB ® 3
MB
© 5 O =

ERTRCD DTXNITEY, To33 5203,

(A) 3 ©rods 03ecd JRDIT
TR 2o, ToNDIS.

(B) =ooon Q03 &8 erone soodecd
TR B, TNDIOL, .

(C) BeRarish wons: Weorkesh3s.

(D) oo, BeHITL Togorsron
T ROZS.

Pdeemn, {33 5203333, Bosgorormon

50038 erartavRien Wesors grecdornroes

3 x 100 Am™'. I& Qweso® 1000

DEOT  ARITTITYL  T03TZY

QTRER X TN
@ = Rozgoearson o038 erartevten wesorhs
(D) a&'aeq,m‘ I sT0er eI B DT, T,TT!,

Btere {0 833 33 o), (A) 30mA
aroinn3d (B) 60 mA
; e (©) 3A

(D) 6A

Space For Rough Work

Physics

gcollegedunias

T



In a cyclotron a charged particle 3. A circular current loop of magnetic
moment M is in an arbitrary orientation
(A) undergoes acceleration all the in an external uniform magnetic field B.
time The work done to rotate the loop by 30°
about an axis perpendicular to its
| plane is
(B) speeds up between the dees (A) MB
because of the magnetic field. MB
®) 375
(C) speeds up in dee MB
© 7
(D) slows down within a dee and D) Zero
speeds up between dees
4. In a permanent magnet at room
temperature
A) magnetic moment of each
The number of tums in a coil of (4) molecule is zero.
Galvanometer is tripled, then (B) the individual molecules have
non zero magnetic moment
(A) Voltage sensitivity increases 3 which are all perfectly aligned.
times and current sensitivity (C) domains are partiaily allgm?d.
: (D) domains are all perfectly aligned.
remains constant
PO : 5. Coersivity of a magnet where the
(B) Voltage sensitivity remains ferromagnet gets completely
constant and current sensitivity demagnetized is 3 x 103 Am™!. The
. . minimum current required to be passed
o 3 Ve in a solenoid having 1000 turmns per
metre, so that the magnet gets
(C) Both voltage and current completely demagnetized when placed
sensiﬁvity remains constant inside the solenoid is
(A) 30mA
(D) Both voltage and current (B) 60 mA
sensitivity decreases by 33% €) 3A
(D) 6A
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6.  Which one of the following nuclei has 8. For a transistor amplifier, the voltage

shorter mean life ? s
1~+ ' (A) remains constant for all
dN ﬁ'equencim
dt

(B) is high at high and low
frequencies and constant in the

C middle frequency range
B
. S (C) is low at high and low
t—> frequencies and constant at mid
(A) A frequencies
(B) B (D) constant at high frequencies and

.0 e low at low frequencies

(D) Same for all
9. In the following circuit, what are P and

7. The conductivity of semiconductor Q?
increases with increase in temperature o
because r
(A) number density of charge carriers
increases
(B) relaxation time increases A Q
(C) both number density of charge e
f:.amers and relaxation time (A) P=0,Q=0
increase
(D) number density of current (B) P=1,Q=0
carriers increases, relaxation time
decreases but effect of decrease C) P=0,Q0=1
in relaxation time is much less Nl B
than increase in number density (N -ExL0%
Space For Rough Work
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10. wod> oy S5 MHz  3don o A s it e
god Jet (v) DX WIS ()
553, 300000 DTS Fo03ecD LU RowopST) Ee0xd3T.
&
TdeeNST. oD XoodRA  Fox )
TR ACWers o oS, v
(A) 15m 0 x—
Toeng, NS RS 9dedy
(B) 300m dequar (a) =D ::%ai (x)=
RowoPSIY FeedoITs ?
(C) 15km *
1
1‘ a
(D) 3km (A) a (B) R}
X—»
X=» .
* 0
11. P, Q D R 3P Toxnconsd 3ed . .
e
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P-Q 13. Ve0WeDIVT JFeaon I e
(A) R Zrz it (] ol
TIPS, y=x- E 5 Q0T ARWIRNG.
B) PQ-R ggﬁm 30,0030 Fenay
PQ (A) %ms"
© F _
(B) 5ms™!
A (C) 25ms™!
(D) EEEE -
(D) 5 s
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10. An antenna uses electromagnetic 12. The given graph shows the variation of
velocity (v) with position (x) for a
waves of frequency 5 MHz. For proper particle moving along a straight line
A
working, the size of the antenna should T
be Y
A) I5m
(A) . S
Which of the following graph shows
(B) 300m the variation of acceleration (a) with
position (x) ?
»
(C) 15km N :
*
) a \ B) ¢
(D) 3km : =
X—>
4 +
t t
a a
11. If P, Q and R are physical quantities (©) —— D) —
having different dimensions, which of / \ S
the following combinations can never
DRI LAY 7 13. The trajectory of a projectile projected
o P from onig;zn is given by the equation
R y =% The initial velocity of the
(B) PQ-R pro_lec‘t}ﬂe 1S
(A) ?ms"
PQ
© R (B) 5ms’!
(C) 25ms™!
PR -
(D) PR_O* (D) 2 ms™!
R 2
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t = 0 IDODHTY X 3,003 Seny wg,m_—
v = (61 - 12)) ms™! 209, = Howd I
RaAG S030 DS Sertsy y-e8a o8 A
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(A) S5s (©) n B0l ZowoPNY,
(B) 10s 1
©) 2s @) 3
(D) 15s
15, 0w NG easmTE Roprabe 18. om0 FER T ey IO
foirt SRONT CINS LRS8 TORNY) 10.2 eV 333y Heddnold. ©no
cdRsonen JOTBORTS ? B0 FRROD  Foery
(A) w0 803 38 Doy,
(B) ) cdnod s 33 (A) 1.05x 10734 )s
(C)  2ta) X0 JoSert (B) 2.11x1034Js
(D) =& TS w3 (C) 3.16x 1034 Js
(D) 4.22x1034)s
16. DITPEFT Y BT WRHIFD
T,3eensd,, -89y W3 B -
Syl . 19. oTh™2 D80k go Beod ©odsemn
p4cInTRR, ©TO XomH, dedd gPb?®, soon Zetsas a =D B
3, 20368, Beariel Bosd, ess08, oo,
(A) 3ag, A) 3,3
(B) 107" m I=neond) (B) 6.4
(€) 107" m FRReesd, (C) 6,0
(D) 107°m I,306089, (D) 4,6
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14. An object with mass 5 kg is acted upon 17. Frequency of revolution of an electron
by a force, F= (—3? + 4}\) N. If its initial revolving in n™ orbit of H-atom is
velocity at t = 0 is v = (61 — 12) ms™!, proportional to
the time at which it will just have a 1

. 7 A) 3
velocity along y-axis is n
(A) 5s (B) n
(B) 10s (C) nindependent of n
(C) 2s I
(D) 15s D) 3

15. lering ineias.tic collision between t?wn 18. A hydrogen atom in ground state
UbJEGI.:S, alwhmh uf. e ful:;mng absorbs 10.2 eV of energy. The orbital
—— wa.ys , e ¢ angular momentum of the electron is
) Moy e
(R) Fots’ mE—o— o (A) 1.05x 10734 Js
(C) Total linear momentum &

(D) Speed of each body e
(C) 3.16x103Js
34

16. In Rutherford experiment, for head-on (D) 4.22x10~"Js

collision of a-particles with a gold
19. The end product of decay of 3, Th*** is

nucleus, the impact parameter is

e : ¢oPb?®. The number of o and P
(A) zero particles emitted are respectively
(B) ofthe order of 1074 m (A) 3,3
(C) ofthe orderof 10719 m 5
(D) of the order of 10 m D) 4.6
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A@BRNS. F, DD F, Jpenane
S R, 4oTot Ty Tcoe DTS cocdeeny odorS  aesbriod
WONTINGEQ, eI SEOI Forog, B, cdRen==Y, IRBOING. oD oed
(A) F,=F, TP SZJVIY A amn WS 363,300 K
A
B) F.»F. ONS. IPT 3,3 3 soon UUss
3es3, 3o,
(C) F,«F, .
D) F,S%F, 305033008,
K
B) 3
21, tom> TOSHE INGIEY, | T8y 1 b
SBODT Towoe :
3 NS SFDY, Enedrd D) 2K
AWFBTY, WS Jen ¢ ©nd.
SNG,FOT 0, IFT Eees
% 23. 6000 A Idor TROUSI) Tl
_ ST woot Jomsddomn 0.1 A
sinr
G 30ONBRATEY, 3,30,3 Sord WIS,
.wf _ i SAQOT TRT FOCIVILS 83,3 Seny),
sin 1
(B) 45° (B) 10 km/s
(C) 60° (C) S5km/s
(D) 90° (D) 20 km/s
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20. Two protons are kept at a separation of : . ;
10 nmmeet F, anfip F, be the nuclear 22. In Young’s double slit experiment,
force and the electromagnetic force using monochromatic  light of
between them wavelength A, the intensity of light at a
(K) Fom g point on the screen where path
difference is A is K units. The intensity
(B) F,»F, : _
of light at a point where path
: o
(C) F,«F, difference is 3 is
(D) F,and F_ differ only slightly (A) K
K
(B) 7
21. A transparent medium shows relation
between 1 and r as shown. If the speed (C) 4K
of light in vacuum is ¢ the Brewster
angle for the medium is D) 2K
F
23. Due to Doppler’s effect the shift in
sin r wavelength observed is 0.1 A for a star
ucing wavelength 6000 ;
I produci 1 A
30° S Velocity of recession of the star will be
sin i
(A) 25km/s
(A) 30°
B) 10 km/
(B) 45° - B
© 60° (C) 5km/s
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26.

27.

woRd 5203 Rewtod Foodecd SHIIFY
5 x 1072 Am? aob3a &%) oo x@s
B35 8 x 1076 kg m?. 30383, B 03¢,
©TT SotiReom SR 2s. TNGY,
SOV F20IY ¢S, B o® TOTREIR),

(A) 1.6x107°4T
(B) 04 x 10T
(C) 3.2x107T

(D) 0.8x107*T

Lo HRgE, T3 word doeeso'rt 500
WBNTR, TBeodT. word Je® 2A

B9, Hede's
LAROTLVONE 5203603 38 Toom,3c3w,

AR T3

(A) 0.628 J/m?
(B) 0.314 J/m3
(C) 6.28 )/m’

(D) 3.14J/m?
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24. An electron is moving with an initial 26. A magnetic needle has a magnetic

velocity V = V,i and is in a uniform moment of 5 x 1072 Am? and moment
of inertia 8 x 1076 kgm?. It has a period
of oscillation of 2s in a magnetic field

magnetic field B = BJ. Then its de

Broglie wavelength

e B. The magnitude of magnetic field is
remains constant

approximately
(B) increases with time
(A) 1.6x107%T
(C) decreases with time
D) i G p (B) 0.4 x107°T
periodically (C) 32x10°*T
(D) 0.8x107%T

2S8. Light of certain frequency and

intensity incident hotosensiti '
ty incident on a photosensitive 27. A toroid has 500 turns per metre

material causes photoelectric effect. If ‘ |
length. If it carries a current of 2A, the |
both the frequency and intensity are

etic ene density inside the
doubled, the photoelectric saturation e .

St hiciidancs toroid is J
(A) quadrupled (A) 0.628 J/m’
(B) doubled (B) 0.314 J/m?
(C) halved (C) 6.28 J/m?
(D) unchanged (D) 3.14 J/m?
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30. 3 gkl DT, FoBOTY, BT Tone
d:»w; QLT De@on'rishd
308,050,

(A) 12A,120V
(B) 1.5A,100V
(C) 2.7A,220V

(D) 22A,220V

BRSO 3. TR,00PEY, OT,03 AS0DQTOT TR I
SFOONITNST. BEarish 20mBRCTd TWOXT eBarROLS. |
O Fed cARFPDe TDONTEY, LY
29. TodnroD A, TIBE URIFIY 50 w3 v :339. 2v 389, ¢ I[Pod
Hz. m‘? Eg,mﬁﬂ‘rms 33000 M m =R,
¥t Zeomeo  Idows R s 5
DRITIY),
(A) 5x1073% (B) 3as;
(B) 2.5x1073
C) 13
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28. Consider the situation given in figure.

The wire AB is slid on the fixed rails
with a constant velocity. If the wire AB
is replaced by a semicircular wire, the
magnitude of the induced current will

X X x X X X X

X X XA % X 5.l

- R P i VLS TR AR
-+

X X X X X

x- 8 X X

R TR T LN

(A) increase

(B) remain same

(C) decrease

(D) increase or decrease depending
on whether the semicircle bulges

towards the resistance or away
from it

30. The readings of ammeter and voltmeter

31.

in the following circuit are respectively

L |C| R=1000Q
S LLLLA | AN
® O
Vo
)
220V, 50 Hz

(A) 1.2A,120V
(B) 15A,100V
©) 27A,220V

(D) 22A,220V

Two particles which are initially at rest
move towards each other under the
action of their mutual attraction. If

2. T esueney of aeratng e | e spesds re v and 2 t any .
taken by current to reach its peak value then the speed of center of mass of the
from rms value ? system is,

(A) 5x1073 (A) 2v
(B) 2.5x1073s ®B) Zero
(C) 0.02s (C) 15v
(D) 10x 1073 D) v
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32.
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32. A particle is moving uniformly along a 34. A wire is stretched such that its volume
straight line as shown in the figure. remains constant. The Poission’s ratio
During the motion of the particle from of the material of the wire is
A to B , the angular momentum of the (A) 0.50

icle about *O’
part (B) -0.50
3
; e (C) 0.25
/ (D) -0.25
A P
5 > X
35. A cylindrical container containing
water has a small hole at height of H =
(A) increases 8 ¢cm from the bottom and at a depth of
(B) decreases 2 cm from the top surface of the liquid.
0 ‘ t The maximum horizontal distance
© iy travelled by the water before it hits the
(D) first increases then decreases ground (x) is

33. A satellite is orbiting close to the earth
and has a kinetic energy K. The
minimum extra Kinetic energy required
by it to just overcome the gravitation
pull of the earth is (A) 8cm
(A) K
B) 2K (B) 4\2cm
(©) 3K (C) 4cm
(D) 22K (D) 6cm
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%53 1 ms™! |IIB. t = 0, |
IO Ty TTFOE 50 cm

BeoROE. t = 0 DA t = 0.25 s
¢¢3, XOBT ROGIRT evdy, - e
(A) ﬁ;=EoCsin(kx-mt)f WO BTRO Fenay,
- =
(B) B,=EC sin (kx - ot) k o ‘;ro I ms :
(C) By=%sin(kx—m)_| : i
E, L 50 cm HI
(D) B,=7 sin (kx - ot) k (A) 40cms! (B) 20cms!
©) uas (D) eso3
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36. An inductor of inductance L and 38. The phenomenon involved in the
resistor R are joined together in series reflection  of  radio-waves by
and connected by a source of ionosphere is similar to
frequency . The power dissipated in (A) reflection of light by plane mirror
the circuit is (B) total internal reflection of light in

g ity air during a mirage
(A) V; (C) dispersion of light by water
molecules during the formation
(B) VIR of a rainbow
R? + w2L2 : , : :
(D) scattering of light by air particles
V
39. A point object is moving uniformly
VIR towards the pole of a concave mirror of
® o i
- R* + 0’L? focal length 25 cm along its axis as
shown below. The speed of the object
_ _ _ is 1 ms™'. At t = 0, the distance of the

37. An electromagnetic wave is travelling object from the mirror is 50’ cm. The
in x-direction with electric field vector average velocity of the image formed
given by, by the mirror between time t = 0 and
- A t=025s1s:

E}, = E, sin (kx — ot) j. The correct
expression for magnetic field vector is R e ms~!
=5 A :0 P
(A) B, =E,Csin (kx - ot) ] ;
(B) B,=E,C sin(kx—ot) k .| i
g e (A) 40cms™!
(©) y - "E' sin (kx — ot) j (B) 20cm 51
= EO % (C) Zero
(D) Bz - -E sin (k.l' - {I]t) k (D) Il'lﬁllity
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40. 20T eBNS 8IY o 38° LN, 42° 42, BITY FpOATH[OP UMY DR
ST 62° EeSTY, tivBd LB RE Boed 3,33 cdomd ABC 238,600
JBIomen MUdex0 44° BATHIE. T3odohs) Teodd. Jd e
TomEd ttd 8 D3 Beodwmen FHOI 3OS FOTY,

IS TSI mm ? ' )
400 ----- A
(A) 30° 0
P(N/m?
B) 40° e 4 G
100 ---- B = &
(C) 49° : :
I ] _’
o 5 10
(D) 60 V = (inm?)
(A) 750)

41. LOAACDR ﬂmw@otﬁaﬂi aqu, (B) -12501J
ROONTOINT.  FINIYnT, cxnRJYcd
ROCIINGS ? SIS

(D) 1250)
(A) 0 °C 03 IS woy) 4 °C
De0F TS WL FRIOCING.
B) 0 °C pecs o 4 °C 43. 27 °C o STTRITQIS ot Beer
=] mm %) o
O, ©RUIR AT wIECOW
De0S TRFS WO BN 2 S v
COFIICNR),  ABRNT. Q0T
(C) 0 °C 208 IS woR) 4 °C M, QronREey | dedrees
V0 NI WORY FOTNS. e o
(D) 4 °C 2603 WSI WP feeos (K]
4,8 Soed (B) 450R
BF0oVITNDITo0T
ah'ula' (C) 750R
AT sasd cRPER
ATV, (D) 1050R
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40. A certain prism is found to produce a 42. A thermodynamic system undergoes a

minimum deviation of 38°. It produces cyclic process ABC as shown in the
a deviation of 44° when the angle of diagram. The work done by the system
incidence is either 42° or 62°. What is per cycle is
the angle of incidence when it is 4 %
undergoing minimum deviation ? 400}-----
(A) 30° ' P(N/m?) ¥
(B) 40° 100¢---- B ' > ‘ C
| 1 .
5 10
().~ 4% V — (inm?)
(D) 60° (A) 7501
(B) -12501J
(C) -7501J
41. An aluminium sphere is dipped into (D) 1250)J
: water. Which of the following is true ?
(A) Buoyancy will be less in water at 43. One mole of O, gas is heated at
' 0 °C than that in water at 4 °C :
constant pressure starting at 27 °C.
(B) Buoyancy will be more in water How much energy must be added to
at 0 °C than that in water at 4 °C the gas as heat to double its volume ?
(C) Buoyancy in water at 0 °C will (A) Zero
be same as that in water at 4 °C
(B) 450R
(D) Buoyancy may be more or less in (C) 750R
water at 4 °C depending on the
radius of the sphere (D) 1050R
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4. oow DI oY Fond WO 47. HFy' %o¥I* JoDTY

(SHM) o003  erdddsod T, 300%533.
goIToossy) 0.5 Hz <ob3d. 10 kg (A) Do Pmewa woddd O8R)
ToBO0THR BTN errsed soeds T ——
FBOINS. W0 SRTIBeD o
BROOTTNG F,FFo 1OF o0 (B) 38 XoTEm DOV
(A) Im (C) =oen ROTT 150 QOO
e (D) e, oo AAHTOSI)
() 15m ”
(D) 0.lm
48. .00 N3 g3 D, DT, I3
45. n?pmwoﬁdmag@y=2sin(3) cos T, 30,3 X D0, T, BT
13 LTCDCMATON ST FOWOFREIY
(48nt). 200 IJeew DY) TS 03T T Lo |
WIS BRCOS ©,088 Jeer s ©o3d |
(A) 7.5 units
(B) 1.5 units 3V
(C) 22.5 units
(D) 30 units T 1
\Y%
46. S9nt EouTHS DRI ToBVRY, 20 e
JRegin SRe8 IT,THLIDIVT X0, >
0,350 ), ? ~ 6A
10 1Q linA —>
i TNGQ D, Z* Eoe3E D), wovs
WO (emf) TD 0308 BT
2Q 1Q (A) 3V,2Q
(A) 0.2A (B) 3V.0.5Q
(B) 03A
(C) 0.4A (C) 6V,2Q
(D) 0.1A (D) 6V,0.5Q
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44. A piston is performing S.H.M. in the 47. Kirchhoff’s junction rule is a reflection

vertical direction with a frequency of of

0.5 Hz. A block of 10 kg is placed on .

the piston. The maximum amplitudci of (A) Conservation of current density
the system such that the block remains 2

in contact with the piston is

(A) Im (B) Conservation of energy

(3. 0>m (C) Conservation of momentum

©) 15m

(D) 0.lm (D) Conservation of charges

45. The equation of a statio '
eq i il 48. The variation of terminal potential

: o3
y = < -8 [‘—) cos (48nt). The difference (V) with current flowing
o thro 1 i sh
distance between a node and its next ugh a cell is as shown
antinode is
(A) 7.5 units
(B) 1.5 units 2
(C) 22.5 units T
(D) 30 units Vv
(in Volt)
46. In the given circuit, the current through >
2€Q) resistor is 6A
10 10 I[inA —>

AR AR A AR
VWY v

The emf and internal resistance of the

12V,
. . 19 cell are
20 0 (A) 3V,20
(A Ben B) 3V.0.5Q
(B) 03A v
(C) 04A (C) 6V,2Q
(D) 0.1A (D) 6V, 0.5Q
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49. FpEID 3ottt T odnenaposod 51.  Q0R deemnd TYnes) 2 cm 0308,

&}cx%a" iraeeiaiﬁgt 2eelaton 240 cm QOXING. & BRe3ST TWwnY IEI

VT8 R0E0e03 AIONR) BRODT. BT PSP — 10 V DR + 30 V

2Q BRepRR) R0, 8eedE IxRT03T AT, & 0> TS TRNY IR
L0PEQ FeOATN FTZ RO R, 30D DT, 53,

3 120 cm 7 BSOS, &

DR, 3* BREBT 50308 BReG), (A) 500 V/m

(A) 4Q | (B) 1000 V/m |
®) 20 (C) 2000 V/m

C€) 1Q

o (D) 3000 V/m

50. BRI WITY, ‘O’ FeoT,TBADS

52. A & B Y IS IS o0
500383,

P, Y

| |20 pF
I

100pF  100pF *A

- 50 pF
A T2 R
5 Bl (A) 50pF
B) 7R
B) X
3 1l (B) 3 P
© Tor
il nl (C) 150 pF
I2R (D) 300 pF
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49. In a potentiometer experiment, the §1. Two metal plates are separated by
balancing point with a cell is at a 2 cm. The potentials of the plates are
length 240 cm. On shunting the cell :

; : — 10 V and + 30 V. The electric field
with a resistance of 2Q, the balancing
length becomes 120 cm. The internal between the two plates is
resistance of the cell is (A) 500 V/m
(A) 4Q
B) 2Q (B) 1000 V/m
©) 1Q (C) 2000 V/m
(D) 0.5Q
(D) 3000 V/m
50. The magnetic field at the centre ‘O’ in
the given figure is
52. The equivalent capacitance between A
and B is,
| |29 PF
[
| | | |
I I
100pF  100pF *A
LB Rt
A) 3R 50 pF | | 1B
S :
5 Kl
B) 7R (A) 50pF
100
o 3N B) 3 pF
© Tor |
I (C) 150 pF
0
®©) xR (D) 300 pF
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53. C oo0n Zom0gFadhs poutsad) Q
2C GO TG, FTRS D, TN -
Re9T DTSR, [esv t;mdﬁ!i
ARWNRT03ToN  WORIONT. 83N
FoUENY oedHT DT, TTFeBTLD,

® 33

(B)

il

510

wo

C)

“wg g »i8

e

(D)

54. ¥ '3 od3 JIny saD Q.
ATRIT D, TN FAIOCIRNGS.
SR, IT B, DX, T)TOTH)
NeaRecmNG. DFTT

5SS, R Z0m0,T 3080 TodNY BRTIY)

1:3:5 SO oPJnd wis oFTIY)
5:3:1. TBY, BJYr¢ AT, deers
RO,

(A) 1:3:5
(B) 5:3:1
(C) ' :1:15:12%

(D) 125:15:1

2Q Iees DT, TBBIA q; TR
q, T,TRERB, AT, SBI0IT 0B
D, RBBATR), Lo, 0ITIY,
CRUNDITONG. word Few & J0RR
amﬁmdwﬂd SRS WOR

(A) 2NFT Toaww, OB W &3, Q8TomN, q2=_—"_
BN, ;
(B) aInST o Sy wm (A) 4
TUENS.
B) 2
(C) «dm ums Roaz, Pl afclovel
SOTRRIT eed 300 TONT. © 1
(D) &m,03 50 zsﬁﬁmn;:! (bmsiew
P vleve)) (D) 0.5
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§3. A capacitor of capacitance C charged §5. Masses of three wires of copper are in
by an amount Q is connected in the ratio 1:3:5 and their lengths are in
parallel with an uncharged capacitor of : : i

: 2C. The final charges on the ratio 5:3:1. The ratio of their
the capacitors are electrical resistance are
(A) %% (A) 1:3:5
3
(B) %% (B) 5:3:1
Q 2Q 15.
(©) Vi (©) 1:15:125
Q 4Q D) 125:15:1
Though the electron drift velocity is ) 5 S
56. A certain charge 2Q is divided at first
small and electron charge is very into two parts q, and q,. Later the
small, a conductor can carry an charges are placed at a certain distance.
appreciably large current because If the force of interaction between two
(A) electron number density is very Shecges = g o then
Q_
large I‘—
(B) drift velocity of electron is very
(A) 4
large
(C) electron number density depends 8] 4
on temperature (©)_1
(D) relaxation time is small (D) 0.5
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57. m ZF,008 AWS DB q DT, TTeT

BT  womd mm;t xodd
AT, 83, E T 239,03 230D
43030 ed?q 0FRVIRNG. y ©eT
BWOLT J030 e BRoHSE Wos LoV el
(A) gEy?
(B) qE%
(C) gEy

(D) q’Ey

eIDTARY AT FIFTY I’
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OROPIRIT.

(B) wosld) ey
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(C) WIEIY), ©IPIWIT ©To
WOST L) .

-l

270, 0TS

(" nle]

(D) moﬁagﬁo SPT0 L7, IITYNOe
SPIRJHOL .

59. AWOPSIIR, (V) «vds FoImon

90T, OIS, WITY, o),
ST x-8T e HTIICINS.
gt Sk, A0, ¥63) E o> TOnead
TOWOPAT0Z CINJTD BOIRNS 9

@)

po— i ——————
— S —— —

+— - —
3 5

x(inm) —»
(A) E,>Ez>Ec>Ep
(B) E,=E.and E;<E,
(C) Eg=EpandE, <E
(D) E,<Eg<Ec<Ep

J
£a

1:..::»::":&:3J tnin'e] gsie&ﬁcg}.g‘ lerv )
m:;,m.-.swﬁv q,as%o:m mﬁﬁ
&goi:a'igt Jonoad. word @ Hed
at?bﬁm:bq‘ grond IR uosm

Buyacon 3,3Fob D, QS B3os,

(A) cdnycie BRSeBBQ ot
BRI,

(B) cxnyde A SesmQ ot
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€) BimpinsEowd, o
sacinRnaEd.

(D) oYl WETHWAIRIOJHO, .
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§7.

A particle of mass m and charge q is
placed at rest in uniform electric field
E and then released. The kinetic energy
attained by the particle after moving a
distance y is

(A) qEy?

(B) qE%

(C©) qEy

(D) q°Ey

An electric dipole is kept in non-
uniform electric field. It generally

experiences

(A) A force and torque

(B) A force but not a torque
(C) A torque but not a force

(D) Neither a force nor a torque

59. The figure gives the electric potential

V as a function of distance through
four regions on x-axis. Which of the
following is true for the magnitude of
the electric field E in these regions ?

»

t -
Vv

(in Volt) 2+

(A) E,>Eg>Ec>Ep
B) E,=EcandEy<E,
(C) Eg=EpandE, <E.

(D) E,<Eg<Ec<Ej

A system of two charges separated by
a certain distance apart stores electrical
potential energy. If the distance
between them is increased, the
potential energy of the system,

(A) increases in any case
(B) decreases in any case
(C) may increase or decrease

(D) remains the same
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COMMON ENTRANCE TEST-2019

DATE SUBJECT TIME QUESTION BOOKLET
30-04-2019 | pHYSICS | 10.30 AM TO 11.50 AM i .
| A-1
Total Maximum Time for Maximum Total No. of Mention Your
Duration Answering Marks Questions CET Number
80 Minutes 70 Minutes 60 60
DOs:

1. Candidate must verify that the CET number and Name printed on the OMR Answer Sheet is tallying with the CET Number
and Name printed on the Admission Ticket. Discrepancy if any. report to invigilator.

2. This question booklet is issued to you by the invigilator after the 2™ bell i.e., after 10.30 am.

3. Candidate must verify that the Version Code of this Question Booklet is tallying with the Version code on the OMR
Answer Sheet. Discrepancy if any. report to invigilator.

4. The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.

5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

DONTSs:

I. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED/SPOILED.

2. The 3™ Bell rings at 10.40 am, till then;
¢ Do not remove the seal present on the right hand side of this question booklet.
* Do not look inside this question booklet or start answering on the OMR answer sheet.

IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 60 questions and each question will have one statement and four distracters. (Four different
options / responses.)
After the 3™ Bell is rung at 10.40 am_Ttemove the paper seal on the right hand side of this question booklet and check that
this booklet does not have any unprinted or torn or missing pages or items etc.. if so, get it replaced immedaitely by
complete test booklet by showing it to Room Invigilator. Read each item and start answering on the OMR answer sheet.
3. During the subsequent 70 minutes :
¢ Read each question (item) carefully.
¢ Choose one correct answer from out of the four available responses (options / responses) given under each question /
item. In case you feel that there is more than one correct response, mark the response which you consider the best. In
any case, choose only one response for each item.
¢ Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number
on the OMR answer sheet.

XOoIRT 8,0 3) §,3ns0 WRONG METHODS

CORRECT METHOD ®® OO0 O O ®0 00
DOOPIPP®OO® ®O®@O®

4. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Thercfore, avoid multiple markings of any kind on the OMR answer sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

6. After the last bell is rung at 11.50 am, stop marking on the OMR answer sheet and affix your left hand thumb

impression on the OMR answer sheet as per the instructions.

Hand over the OMR answer sheet to the room invigilator as it is.

After separating the top sheet (KEA Copy), the invigilator will return the bottom sheet replica (candidate’s copy) to you

to carry home for self-evaluation.

9. Preserve the replica of the OMR answer sheet for a minimum period of ONE year.:

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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